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Problems (6 pt Problems)

Factor the GCF from 82 — 1023 + 1425 (check for errors by evaluation of
appropriate expressions).

Factor the GCF from —142°y% — 212%y" so that the other factor has pos-
itive leading coefficient (check for errors by evaluation of appropriate ex-
pressions).

Factor the GCF from (2x +5) - 7 — (22 4+ 5) - 3z (check for errors by
evaluation of appropriate expressions).

Factor 322 + 6z — 52 — 10 by first writing it as a sum of two binomials
(pair the first two terms to form the first binomial and the last two terms
to form the second binomial) and factor the greatest common factor from
each binomial. Check for errors by evaluation of appropriate expressions.

Exercises

. Factor out the GCF of —5z2 + 15z.

Factor out the GCF of 162%y® — 2023y" + 6231°.
Factor out the GCF of —(z + 5)2z + 7(x + 5).

Factor 422 — 2z + 6x — 3 ‘by grouping’.
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